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c ab b2 a2 2ab —c2
a b ¢
Sol: A=|b al ©XBKdw
c a b
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—abc—a> —b° +abc+abc—c>
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2
a b c a b cla b c
DB b ¢ al =b ¢ al |b ¢ a
c a b c a bl|c a b

FotsB DEEED Dot Cyy & OHBGOSIT
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—-a ¢ bl la b c
=|-b a ¢/ |b ¢ a
—-c b a a b
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2x-y+32=8, -x+2y+z=4, Ix+y—4z=0 580 Fr@ D&% $E8S FHoel.
S S K5 s, Sr@se $8se Ervo: AX =D

2 -1 3 8 X
A=|-1 2 1|,D=|4]X=|y
301 -4 0 z

. AX=D Gw¥) ¢ X=A"D eidi.

apid A7l sdfromro.

2 -1 3
IAI=-1 2 1|=2(-8=1)+1(4-3)+3(-1-6)=2(-9)+1(1)+3(-7) = —18+1-21=-38
3 1 -4
2 1] 11| = 2T
+ - +
! ; ! 8—1) —4-3) -1-61F [ -1
adia=| [ 3] 4P 3 22 (;4_3)) (_(8_9; (;2;3; —_1 _17 _5
S I T 31| -
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-1 3 2 3 |2 -
+ - +
LRI R
9 -1 -7
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7 -5 3
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A‘IZL(ade)zL -1 =17 -5
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-7 -5 3
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.'.X=A_1.D:;—8 -1 -17 -5||4|=—| -8-68-0 |=—|-76|=|2

38 38
-7 =5 3|0 -56-20-0 =76
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22, & (8o 08dadh Tpo Sy SR Erdin S HGS.
F=(61+2j+2K) +t(i —2j +2Kk) £8c5%» F=(—4i-K)+s(3i-2j-2Kk)

Sol: &8 08dcH Bpen T=(61 +2j +2K) +t(i —2j+2k) ;T =(—4i —Kk) +s(31 —2j —2K)

_ _ (@ —).(bxd)

Se@or T=a+1tb, T=C+sd Opo ¢ IR CﬁPééD(SDFTa‘

&8 Cpoid T=a+tb, T=c+sd & Beym

a=6i+2j+2k andb=1i-2j+2k

T=-4i-kand d=3i-2j-2k

9%, a-C=(61+2]j+2k)—(—4i -k)=10i +2j+3k
i ] kK

bxd=|l -2 2|=i(4+4)— j(-2-6)+k(-2+6)=8i +8j+4k
3 2 2

s (@—=0).(bxd)=(101 +2j+3Kk).(81 +8 +4k) =80+16+12 =108

58000 | hxd =82 +82 +42 = /64 +64+16 =+/144 =12
(@-0).(bxd)| 10

- &% Gr80(SD) = o —9
© ‘bxd‘ v
23. A+B+C=§ ®owd  c0s2A+c0s2B+c0s2C=1+4sinAsinBsinC ©Q J87rHoKN0&.
A: L.H.S = cos2A+cos2B+co0s2C = 2005( 2A Z 2B )cos( 2A ; 2B )+ cos2C

=2 cos (A+B) cos (A-B) + cos 2C =2 cos (g—c)cos (A-B) + cos 2C

=2 sinC cos(A-B) +(1-2sin2C) [-. cos20=1-2sin20]

=1+ 2 sinC[cos(A—B)—sinC] = 1 + 2 sinC[cos(A-B)—sin (E_( A+B))]
2

=1+ 2 sin C [cos(A—B) — cos(A+B)] = 1+ 2 sin C [2 sin A sin B]

=1+4sinAsin B sin C=R.H.S
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24. r+r;+r,—r;=4RcosC ©d dErLoLol.

A: LHS=r+r+ry—r;=(r+r))+ (ry-13)
= 4RsinésinEsinE-|-4RsinécosEcosg + 4RcosésinEcosg—4RcosécosESinE
2 2 2 2 2 2 2 2 2

. A(. B.C B C A( . B C B. C
=4R sin—| sin—sin— + cos—cos— |+ 4R cos—| sin—cos— —cos—sin—
2 2 2 2 2 2 2 2 2 2

=4Rsinécos E—E +4Rcosésin E—g
2 2 2 2 2 2

. A B C A. (B C
=4R|sin—cos| ——— |4+ cos—sin| ———
2 2 2 2 2 2

.|A B C
—4RSIII|:E+E—E:| I:'.'A+B+C=180°:>%+%+%=90°:|

=4Rsin(90°-C) = 4RcosC =R.H.S
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